Nostalgi droppslkyvdd

Droppskydd

Monteringsanvisning:

1 droppskydd

1 Satt fast krokarna p& med bifogad skruv och mutter.

4 krokar

4 skruvar M4x8

4 kupolmutter M4

Nostalgi drip tray

Drip Tray

Assembly instructions

1 drip tray

4 hooks

T Mount the hooks on the tray using enclosed set screws
and nuts.

4 screws M4x8

4 nuts M4

Essem
Design

+46(0) 37119410
info@essem.se
WWw.essem.se




